TR 11 T

ATEFTIITAT F FHATLATAT AIHF Hb T
. Gkl KK HATE T qb T
1- | =t HETaTET Oy R STHE =R AT %.12,940/-
o |t u | Tg TG TR SATERTLT (TATEY) %.12,860/-
3. | =T dex Rddar = ECEIRICIPEAR] %.11,395/-
4- | ST AENETE 9w AT EREIREEIPENRA] *.11,395/-
5- | S WIHETETAT 2T . FT AT *.11,130/-
6- | =T @eUTEHT HeT . FTTIT SATEHTL *.8,745/-
7. | =t F=gE A dft FTIT AT *.10,335/-
g- |t waiE AT T2 %.1,000/- (FTAHETEST)
9. | =t I=T HIAEEAT TgTeah %.1,000/- (FTFHEETEIT)
10- | =t et fof EIEPIERE] %.8,630/-
11- | =t =T fwar vw EIEPIERE] *.3,030/-
12- | #wcdt o= TRET . g fordis *.8,445/-
13- | =Wt TEE @ 3uT fordet denerfeT %.8,190/-
14- | =t sreft dEFAT S, fordt= *.7,650/-
15- | =T, AT gehiw . ford=® %.6,100/-
16- | 1. STEATE Hrereht TARTITBT TRTETF %.5,600/-
17- | et TF@HRT THAT UA, TS farsTe srfaRTey %.8,665/-
18- | =Wt aréter frar T, Tt %.8,235/-
19- | 1. T TeHTHIT TIRTLTST AT %.8,820/-
20- | &1 =™ SR A THTOT FATSH %.7,680/-
21 | et affmT wog EIEEIRAED] *.7,055/-
oo | #\dt TaT et gt qgr=T® *.6,020/-




AT e

A EIUTAATIHTO AT TR F FATSTIATL qut'i%ﬂ

. RE =
1- TRETHT %.8,440/-
2. TANTITST HET=TF %.5,660/-
3- &7 FoRer FETsT +.4,880/-
4- ot %.6,110/-
5- LIRS %.5,090/-
6- TANTATBT HTHITL ®.4,945/-
7- EISEIRFE DI +.4,805/-
8- farars =.4,690/-
0- AT | AT %.5,990/-




